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Les parenthèses 

Ton ami Gus te propose d’effectuer les calculs avec parenthèses 

suivants  

 

 (3 x 6) + 7 = ………………………………… 

 (9 + 8) x 3 = ………………………………… 

 (10 - 2) + 21 = …………………………… 

 6 x (9 x 3) = ………………………………… 

 55 + (7 x 6) = ……………………………… 

 (44 - 10) + 9 = …………………………… 

 152 - (30 + 2) = ………………………… 

 (9 x 8) – 34 = ……………………………… 
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CORRECTION 

 

Les parenthèses 

 

 (3 x 6) + 7 = 25 

 (9 + 8) x 3 = 51 

 (10 - 2) + 21 = 29 

 6 x (9 x 3) = 162 

 55 + (7 x 6) = 97 

 (44 - 10) + 9 = 43 

 152 - (30 + 2) = 120 

 (9 x 8) – 34 = 38 

 

 


